EARAROBEEIERT — 2 N— IBISH —F

201755A7H (B) 2M%=6H

) [HE%E]

oN=}
EE

‘ [R1&] & ‘ [REBE] — | Z (%) 16000 B

Kl tss 16005TF ¥5%4%E (B&
&

[A~&£] 1 7 18,200,000 § ~ 2 7% :7,300,000 @ 3

14,600,000 B

4 7% 12,700,000 5 7 1,820,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. s # 6 | C. x=Jb 1:33.8 1-1 33.5|106.5| 3 490 |BETT ()
1 4| NFY A 57.0 st (o) |EFEAF-NF T2 ()
T4 =TA42nN7 b B:yO0x%v=F> J—HrTr—LA
H o4 | FlBEX 1:33.9 9-9 33.0 | 106.0 | 4 510 | ARMT (EX)
2|57 |B777V)a— 57.0 (3/4) Gay | @ HrF-L—v>y
R:tr/n704 B:Z-YIZT7ET b J—HTp—L
S = 44 | HEXH 1:34.1 2-2 33.7|102.4 | 7 414 | HERED (5
31813 NS T 57';_0 (11/2) (+6) (%) ¥ Iy KI5 T 5747
SRFAOd=I R BRARXTINT - EvJLy RT7—L4
— 5 £ 6 | BKHE— 1:34.2 7-6 33.4 [ 102.4| 2 466 | BERFIME (M)
A - MEEES N ) e Pk o |WEEs
XL TAANAN BT U—Ib J—HTr— L
45 | HELDHIE 1:34.2 13-13 [ 32.9|102.8| 6 498 | mEES (XH)
5 ~F—-0 0 (7€) (-a) | TR
RBATAT v — BTATLTT12T HET77—»4L
O &% s S, 6 4 4 | M. FA-0O 1:34.3 14-10  [33.2101.4| 1 460 | KIEBEN (BR)
6 NFXLI TR 57.0 (3/4) 0 LEEL—Z (%)
LN=YIFL Bih—>T1 b ETF— HFAYREy K
Lo o it 6 | MILBAT :34.3 5-6 33.5[101.2| 8 482 | BEIFNE ()
7 9: + /1:71'/}[//\/ * 1;_0 (/\7’) (_2) T AF
LN—YI54 B:RATRE—by T R T
S Ty T £ 6 | SAEA 1:34.3 7-10 33.2|101.4 | 12 | 496 |AEHBEZ (BR)
3 R s ~6 | =8 e o) | R
L:ARTA MY B:ALRA Y L— R HET7—L
TR > 5 | JIEEH 1:34.3 3-3 33.7100.6 | 11 480 | REBE (i)
9l1]1 | VT TN R 77| sr0 (7€) 46 | B SNTEF—#5TLy KR
R:wy)gdyk B:YyyHFoza EX 2V K
S s 5 | MAM— 1:34.4 10-6 33.6 [ 100.0 | 13 | 462 |/NE&X (Fi#)
10/ 8|14 A3 IALTY 55.0 (7E) (-2) ARLT I
L:F=TANT h B:XI—ERy— =e)
S iy o6 | K2 1:34.5 12-10 | 33.4] 99.0 | 9 490 | EKAF (BH)
1712 242 b Y 57.0 (172 (+10) BB
L:ZATATvy— B:IVTLAX tE BE
S L 4 6 | AllERA 1:34.5 10-13 [ 33.3] 99.1 | 14 | 494 |HFESBE (FH)
127 11| ®@L A2 TG 1 >~ 57.0 ("F) oy | o g
A :Shamardal ##:La Ina K. K. Eishindo
3, 4 4 | AEEE 1:34.5 3-3 33.9| 97.6 | 5 534 | WS (XH)
13¢W 5| A—3I—~ 57.0 (7€) @) | &) IwTr—L
LT RIA VL= BU—RALTYL INTF—L
5 A4 # o6 | KRELERE 1:34.9 5-5 34.2| 92.2 | 10 | 504 |FIEHIE—BER (i)
14El 3| TR AVT Y 57.0 @ 1/2) Lo | W) 93TV K557 5747
L:F—TRXTPN—r Bikyh14335 =it =5
@ 21 L
£y 45.7-33.5
NaO>24 L | 12.6-11.1-12.1-12.3-12.2-11.0-11.0-11.5
® I—F—@EBIERL
13—7-
23—7F—
33—+ — 4,13(1,5) (2,3) (6,10)7(11,14)12,8,9
Mal=5r= 4,13(1,5)3(2,10,14)7(6,12,9) (11,8)
[ N5
B R 4 7208 | | 74 K 4-7 1,020 | | # = 3-5 1,440/ | | 3:&48 4-7-13 20,060/
# B 4 300H 4-13 2,090 B E 4-7 2,830 EE 4-7-13 93,950
7 300 7-13 2,670MH B H 4-7 5,170M
13 450M

ABICOVWTRDTEEERROODE. TR LIV,




